Math 240
Name(s):  

Review for Test #3
1. Let u = [1, 2, 3] and v = [2, 2, 1].  Find  u X v
2. Find the area of the parallelogram with the given vectors as edges:  [1, -3, 1] and [2, 1, -4].
3. Find the determinate of 
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4. Find the determinate of 
[image: image2.wmf]ú

ú

ú

û

ù

ê

ê

ê

ë

é

-

-

3

0

4

1

2

3

0

2

1

 using the expansion by minors.
5. Find the determinate of 
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.  If you use any of the properties of determinates, state them.
6. Find the determinate of 
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.  If you use any of the properties of determinates, show your work.
7. Use Cramer’s rule to solve the system of equations:  
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8. Let A = 
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.  Find Adj(A).
9. Prove that a matrix with identical rows has a determinate of zero.
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